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General Instructions :

(i) Answers to questions carrying 1 mark may be from one word to one
sentence.

(ii)  Answers to questions carrying 3 marks may be from 50 - 75 words.
(iti)  Answers to questions carrying 4 - 5 marks may be about 150 words.
(iv) Answers to questions carrying 6 marks may be about 200 words.

(v)  Attempt all parts of a question together.

1. U Fawes 91 el i araf 3 forg € 20,000 559 9R yuEt (3o fasdt) A
Y =@ 9| o | 99 35 9T R9d 9 § 39 329 & fau gk e
3G a1 T 6 98 G T o |

ﬁﬁﬁmwwm@ﬁﬂﬁm)ﬁﬁwqaﬂmﬁwﬁw
hIfen | 1

An investor wanted to invest ¥ 20,000 in Treasury Bills for a period of
91 days. When he approached the Reserve Bank of India for this purpose
he came to know that it was not possible. ‘

Identify the reason why the investor could not invest in the Treasury Bill.
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9. e W A I F i F O W T GORY T G TR I
7 i -

SR P ST S SO GUAT JRL S .

‘Buy one get one free’ is printed on the label of the i)ackage of a mosquito
repellant.

State the labelling function being perforined by this statement.

3. U Ium# e wer % T & I 7 ofm v & w4 o +i R
FuTal # YEiferan & wy fiemn S 7 | e IdeE HEEl il T e
e Wi ST € wd T €9 @ ey 6 8 | SHeR Ugw S off 5|
T FT WEAT X T 2 T 9% RO IR 1 qUT WA B ARdfas &9 5§
I 6 & ST G0 @ ¢ | Ak, T 9K 96 39 S Hiel I g1 Il 8
A 30 TR Tt 3 ofEfdd e A F9 T FE R

T FN i wEvhe Yot Y AETIHRAT HI IHGG FA AT FWH Hl TgTH
hIf | 1

In the paint industry, various raw materials are mixed in different
proportions with petroleum for manufacturing different kinds of paints.
One specific raw material is not readily and regularly available to the
paint manufacturing companies. Bonler Paints Company is also facing
this problem and because of this there is a fime lag between placing the
order and the actual receipt of the material. But, once it receives the raw
materials, it takes less time in converting it into finished goods.

Identify the factor affecting the working capital requirements of this
industry.

4. U A died I F TH FeUE IS FE H ol a1 ovem o6 §
I fosra W 10% e a1iia w0 1 ae Tyt frar | ob 38 saerEh %
T g a9l % wiass, s % eififvee o, & 9R & ffRw o | s g
THeE & 6 Siwae 6 At fFufifE g @ R | W gE 1 swEm e
s # FEee % = amur % w9 # R oo @ el dn % Wy aen
ToFaT | TR FEAT % SNUR W Ieedl St 9fd % T I 9ttt @
WA 39 3TH 9 T8 § Th §3 I A e |

oY % T B ) AT § T GRY g HEE T 9t @ SO
et ST | . 1
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Saurabh decided to start a chocolates manufacturing business. He set the
target of earning 10% profit on sales in the first year. As a good
businessman, he was concerned about the future of the business, which
was uncertain. He gathered information that the demand for chocolates
1s increasing day-by-day. He used this information as the base for future
planning and shared it with his team. On the basis of the gathered
information, he scheduled a meeting in the following week to find
innovative ways to achieve the objectives.

List the first two steps, which have been followed by Saurabh that are
related to the process of one of the functions of management.

5. 3uvhl TR0 ARifEw, 1986 & I=wid forelr Iuuer faare Fare $rg €
AT AT 1
Give the constitution of the District Consumer Disputes Redressal Forum
under the Consumer Protection Act, 1986.

6. TENT & ww v & w9H Taft’ &1 aref wamsw | 1
Give the meaning of Method’ as a type of plan.

7. ‘ot wt afonfya i | 1

Define ‘Decentralisation’.

8. TIuvm Werum gl (SFaumunatt)’ Y wHy Aewaul w9l § ? 1

Why is the understanding of ‘Marketing Management Philosophies’
important ? '

9. UTTR WHTHR & TT4, a41 F (VSAR) FEq1e & q& =34 9lhar & =il 1
JoeiE HIRT | | 3

State the steps in the selection procedure, after the employment
interview and before the job offer.
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10  GEq HERE SoTEoNT Y T A%l YOS ¢ | 38 A HE F A SNE
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fronfed o g% 9 GUSIENS Iewd| o Tftd L Teb | WoRg ug warE e
¥ 7€ wig § Femm wReal S 90T R 2 |

T gier TouE % w9 ¥ a7 FHEW sl TENer S HehiieTsh
wEgelt w1 +ft I et & | vE SR 9 e fat g w3 A wh
Bt & 7o 7z ghifvea e & B @t 6 wifta g = |

(®) <Nl % saEr A e B9 F fre e ver  Rge @ St
7 lewmmﬁmﬁﬂiﬁﬁﬁﬁq‘a’aﬂﬁﬁmsﬁmﬁ%m
R AYNEG B 1

(@) s afld wh w % @ THRoS Tegell %1 Sev@ i e
He T gfgH™ TaRus o F9 § N W R | 3

Sandhya is a successful manager at Manisons Enterprises. She has a
team of twelve people working under her. She encourages them to set
their own objectives and take decisions. She respects their opinions and
supports them, so that they can perform their duties and accomplish
organisational objectives. To manage and exercise effective control she
uses forces within the group.

As an intelligent manager, at times, she also makes use of positive
aspects of informal communication, This way, she 1s able to unify diverse
interests and ensure that targets are met.

(a) ‘There are many theories and styles of influencing people’s
behaviour. Identify the style used by Sandhya which is based on
the use of authority.

(b)  State two positive aspects of the communication discussed above;
which Sandhya is using as an intelligent manager.

11 () 3gm, (i) AR, 0 (i) THI-IETE F AR T =i o e
GI7aAT 7 3HE HINT | 3

Differentiate between formal and informal organisations on the basis of
(i) origin, (ii) authority, and (iii) flow of communication.
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12. 9O & R ¥ IJuEl W@ % TEd % Rl o fegell @ waw &
HAART | 3
Explain briefly any two points of importance of consumer protection from
the point of view of business.

18« TH FE H1 fUse dF o9 &1 69 | 39 (ROI) 10 — 12% & A7 2 |
It et Tl Ooft savasRarsl & forie % fau s 9% Ror 3uR o &
ﬁﬁ%@ﬁﬁwg

TP ® : 9= &

fpen @ : 13% =N
maﬁa%mﬁﬁw%’mﬁm‘@’ﬁﬁaﬁqmm%?mm
& Tmdt ¥ wro dfvw | @y & fola 87 A ygo sy @ of seow
IR | | 3
The Return on Investment (ROI) of a company ranges between

10 ~ 12% for the past three years. To finance its future fixed capital
needs, it has the following options for borrowing debt : '

Option ‘A’ : Rate of interest 9%
Option ‘B’ : Rate of interest 13%

Which source of debt, ‘Option A’ or ‘Option B’, is better ? Give reason in
support of your answer. Also state the concept being used in taking the
decision.

14. TH {Of A H@Al, TEHW FERed & eI wEBA IR,
T qfd, 3 3 GF & fufhes & 38 F™ A gopa s w1 ol
faen | susk foe SR @ =« ZhaT T i | T YovEeR weed ERhr 3
fafrcae! & 3t Tl =t AftRdiea 9 wuifta w0 F o (g adel =i
fi-wand Jard wem A aon qEl ¥ Fh T W Refrmwt F Iope A
I g HH & foag i sforest-sama & forg =rf R |

7T HRSH ARHRT AR F Trio] &1 7l e aaqreil S gurEn sEan
o1 | 38 Folr T & woft Ffercass anfio &1 F svdew ©: 989 gy
ER T |wﬁﬂ8%ﬂﬁﬂaﬁm%wﬁﬁﬁqﬁaaﬁmﬂﬁﬁﬁgﬁﬁw
YR 9T h! T |

66/2 6

YﬂEgS CBSE BU ARD X" 10YearsQuestionPaper.com

QUESTION PAPER.COM




(%) =1 2R & AreIm § [ehR wieew’ g A ket =t wgm fFu

T YT I TgTH hIRIY |

(@) Wt (%) § vgar Ty T 9 g Tafercast S fea smaggesar 1 qfd
Bt 2 Seo@ A |

(M) W QA T # SeaE Hiwg R TR wftes ¥ T
Sl TRl T ® TG @ 91 4

Ram Murthy, the CEO of ‘Goodcare Hospitals’, a leading chain of
hospitals, decided to reward the good work of the doctors of his
organisation. For this he instituted two running trophies. A ‘Healthcare
Achievers Trophy’ to acknowledge and appreciate the tireless efforts of
the doctors who rendered selfless services to the patients and another
‘Beti Bachao Trophy’ to recognise the outstanding work done by the
doctors in saving the girl child.

The.CEO also wanted to improve the health services in rural areas all
over the country. He decided that all doctors must work in rural areas for

at least six months. He also decided that the paramedical staff should be

employed locally.

(@) Identify the incentive provided by ‘Goodcare Hospitals’ to its
doctors through running trophies.

(b)  Which need of the doctors will be satisfied through the incentive

. 1dentified in part (a) ? State.

(¢)  State any two values that the CEO of ‘Goodcare Hospitals’ is trying

to communicate to the society.

16. i 9 Q.of. soergiie forfiees’ 9 ong. uy. o, (ISI)m%ﬁqmuﬁam
‘TS h e w0 | gFEeR 4 Wi 5 e w9 % g d
6 e e & forw e | 3Ew i, iR, U soegite IRl % 9y W=
HE §gd TEE B A1 | S G H w5 aelia f e $ R S
wfafaftr < wcfen s it FiE ravaEar T8 ¢ 9T 98 Ig B H GHal g |
A:, QA1 7 IWEH & [Aew] T Iied ohe fomT aefiv =6 wenfia o femn | amtw
H i Y el w9 A SE R an gons ot g | dfha @ Tl % uw
Y gorg 9% & o9 | 9 1 UE ©f 1% | gEa aun fade 1 wefe @ 9
F i 9ga S H Al ¥ 3 vFEl A oEww ) | 3@ ghtg 3 At
Feagi-ea e’ & wmeh R, Fein 98 +8d 3¢ 891 e w0 & g
X T T Fvr+ft grr wwsfir 1 e =€ A 8 oft |
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(%) UH T 3N * AW g g Hatg fhe 9 9@ 30 st #
Ira@ $iftie Rrad 98 wro! 6 Band ared T Gehat o |
(@) U fpsl Q& iRl i 98" § ausse e swam gita g e -
: gmma&mm(m)ﬁmﬁmwﬁwﬁawﬁmﬁm
| 4

Sumit purchased an ISI marked washing machine of a famous brand
‘MG’ from TG Electronics Ltd: The shopkeeper asked him to wait for two
days for installation of the machine. His friend, Vivek, was very fond of
experimenting with new electronic products. He told Sumit that there is
no need to wait for the company’s representative to install the machine
and that he could do it. So, both of them installed the machine without
following the manufacturer’s instructions. Initially, the machine worked
effectively and the wash was good. But after two days, the machine
stared stopping in between the wash cycle. Sumit and Vivek tried their
best to start the machine but failed in their efforts. Sumit, therefore,
approached TG Electronics Ltd., which refused to provide any service on
the plea that the installation of the machine was not done by the
company.

(a) State the responsibility which Sumit had to fulfil as an aware

consumer to get the services of the company.

(b)  Explain briefly any two rights which Sumit could have exercised
" had he fulfilled his responsibility identified in part (a).

16. 3yl U ud Tment fafiee’ & @ i fawrlt & gfen € 1 9 gy vewes
8 1 - Taurm & fsued it gurd & oy st &t I @ Ao
TFA & | qufy, SE9 & I Hl Rd W =H @ F T -3
ThaThetTT = &9 T A3l T A I F991 & HRU WY F Tyd o fersmit
& g Ferfond § hee 39 T T8 ® | OWHG: I Hed Stawriy
e Seom @ Sa & @ 3 e ol | e € | 9% weATare seedt o i
% foe wifvens frg gen 2 | T 58 W o wvw @ R & ament fafie’
% J&T RSN AfFR (CEO) Ft 99 & THYH 3g T qUAvierl % &Y. 7
wwft i Fghe weit ot | &l =1 @it & e 6 F avar @l < gar
Il {5 STOYAT 9 TEE g1 Shl HAAT qYT FHA GSHI % HRU GHEI
397 g% ¢ | 3Rl a @ 6 ww Rufa e e’ g s v wiearenss
AT 1 RO @ |

39 gET ¥ ‘Taent [fiRe g AT TS EeAIeHs SEEl i ygeaH g
TAT $H THR TSI TS GET & el diF Tl T Seoid shifeig | 4
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Aradhana and Gandharv are heads of two different departments in
“Yumco Ltd.” They are efficient managers and are able to motivate the
employees of their respective departments to improve performance.
However, their drive to excel in their own sphere of activity instead of
giving emphasis on objectives of the enterprise has hindered the
interaction between the departments that Aradhana and Gandharv are
heading. Often there are inter-departmental conflicts and they have
become incompatible. This has proved to be harmful in the fulfilment of
the organisational objectives. The situation has deteriorated to such an
extent that the CEO of Yumco Ltd.” has hired a consultant, Rashmi, to
resolve the problem. After studying the situation closely, Rashmi found
that the problem has arisen due to inflexibility and a narrow perspective
on the part of both Aradhana and Gandharv. She is of the view that this
situation is a result of the type of organisational structure “Yumco Ltd.’
has adopted. '

From the above information, identify the organisational structure
adopted by “‘Yumco Ltd.” and state any three advantages of the structure
so identified.

17. 999 % Fg=m w4 % 7@ & el wr fagedl = guamy | 4

Explain any four points of importance of the controlling function of
management.

18. a9 2015 H, 9dH ¥ =s 0 1uer faentyarqul Seq ww e, SEf 98 & w8
foifiRs & @ vous & w9 4 | o1 | = fi 25-0Fs U9 T T
IS B # aiEiia i & A TR % W W YU FH 7g I8 BANIG 5
TR H NG & T | 3H foe Ied fafie Sty 9w 1 e ft witg
2g Fremfem &t o arelt niafaRe &t Bfsm e
It a8 Sdl-arst & vy & omfw o, o g niifafy gt o | e
i @ HiRivw 76 s fataty Wi | raEt B gewar F e s
At T FE TaART Titte Hieqmed wisae fafies’ s )
IR T g Sgd T o1 S T Weld Ion g FRart i welt-ardt % o A
SRR ¢ T forelt it favar T o1 | wg 9 Yo fawn W forga ==t 6
ae Rraml 4 3 s I Ry S 39T | 97 Wil weArell i e ¥ &
HIH % 2ifreRad angeER afed g9 St fivea e =tEm on | fasee gatgam
% e W, IGH I UG sk il T a1fiies qoET 4 |
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et 78 off 2@ 5 fram Feaa g I & SN fh shaw 99 % 3 ~ 4 AEAT
H1 o1 o a¥ F 8 — 9 7L yfF IR U & off | I T Haw = Rt
frepedt Y ugaH ) o1fig e Yoared ff Fear R g @dl = 9 F 9w
TEET % fow Iua ® wrEr S ghar of | ol 9o % fowew % SeR W
sfira e au aohyel e =aftra | giT fshedt s wieer 9 e
T | e Tt Yt U aer & e g aF it e S uvEnq afset
IS ST Gehall o |

I Rl ye ¥ s wE B aRwaret S gie w2 | IR |
il W Iga g S Terwanett i gge HIfY Ul 3% qHEY | 4

In 2015, Naveen left his luxurious life in Mumbai, where he worked as a
manager for Blue Birds Ltd. He shifted to Begampur, Chhattisgarh to
fulfil his grandmother’s dream of converting their 25-acre ancestral land
into a fertile farm. For this he set out specific goals along with the
activities to be performed to achieve the goals.

Every activity was a challenge since he was clueless about farming. He
learnt every activity from filling the land to sowing the seeds. To aid
farmers he launched his own company ‘Innovative Agriculture Solutions
Pvt. Ltd’. -

It was difficult initially as no one trusted an urban youth telling farmers
about farming. But when everything was discussed in detail the farmers
started taking interest. He wanted to ensure that the future events meet
effectively the best interests of the company. Through sales forecasting,
he prepared an annual plan for production and sales.

He also found that the farmers grew only paddy, Wthh was an activity of
3 — 4 months and the land remained idle for the rest 8 — 9 months of the
year. He not only identified but evaluated various alternatives through
which the farms could be utilised for the remaining months of the year.
Through correct foresight and logical and systematic thinking based on
analysis of all facts, all alternatives were examined and evaluated. He
presented a plan to the farmers, where after harvesting paddy,
vegetables could be grown. :

The above case highlights the features of one of the functions of

management. By quoting lines from the above identify and explain these
features.
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19. YRS i w@ fafma 9 % granersh SR 1 Seaid iR | 4
State the protective functions of Securities and Exchange Board of India.

20. TEy 2w % Rragh ¥ Bm o fafiee’ soate awgelt w1 w i
UM | s O R e wfeEnft seegite awget w1 Pl w0 I sem
Trar fafiee” < gorn & 98 HA A ARG @ B | BIOTRE T2 Far g
¥ ETEH I A, Tresl, SfoifE aen engfdeated S srfgda smafeufa
% HRUT YT TG & YU B 2 | 59 AfiRew, ST §9 & 39 &84 6 5
rofeareey # Hg1 arqfd, RERI i GTEHT, qedTehl e, Foaiq el § o
ATIET T | T Bt 7 |
(%) Waﬁaﬁaﬁawﬁﬁﬁwﬁwmgw

Iooig i |
@) mw%m%ﬁr{iwﬁ%ﬁwﬁmml 5

‘Konark Ltd. is an electronic goods manufacturing enterprise situated in
Shivpuri, Madhya Pradesh. It is earning ‘a very low revenuein
comparison to a competing electronic goods manufacturing enterprise,
‘Nova Litd.’ situated in Mumbai. Both Konark’s and Nova’s operations are
affected directly by the investors, customers, competitors and suppliers,
which are unique to their respective locations. In addition to this,
individual firms of this field are affected indirectly by the factors like the
money supply in the economy, composition of the families, the
technological changes, etc. :

(a) Identify and state the feature of the concept discussed in the above

paragraph. : ‘
(b)  Also, state any four points of importance of this concept.

21, T UEIEAU B OF W F A v §H qo Hivd W FE & 0,
e TR & VAo Seamel F1 U ol IcuTe ST STRaT ot | 36 oEl
55 3caTe W & iR ekl Wi Syl @ <R oft | 5w 37 IR Fom wement
ﬁ%ﬁmﬁammmﬁwﬁhwﬁm TTERT-3TERS AT AT
aﬁmwﬁg(mmwﬁaﬁﬁal
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VAT IATE Ht @iy GHa ITAEIR g Y S aTel! Uil W e
HT S G, higa o1 | 364 I8 +ft e T sues fore w3 qer qen
bt wviTfee wiafseenadt 1 oft e | @ S |

e % uhaw ud foveisor aen a8 foom feEes 0 % v S8 9 9en
T ITviieRt oReg % o9 1 g WA A T T S WY F 8 | STHIeE
Rt S Y ATEE A T @R S I 98 I & o fF S W
e HH-§-FA ITh R YTAH i TS NG % SR 2 |

% 98 TH 7T IR H Ja9 W @ 9], m:mﬁagua%m%agmﬂ'
ATE U TG W G | 98 S of 76 dufafy # o e 9w o
Sfifae 78 ® T I % T —gHau Y afgd gt @mrd ot 7 @ Wl |

I wicaifEl & Il it ueeT iR faRiareti au IuHimell S o
wifrnatt = oft e fRam | g9t = A W g S SR F oo el
ﬁﬁﬂm@ﬁﬁawwﬁ#ﬁwﬁﬁmwsﬂﬁvﬁm!

W@ﬁ@mﬁmﬁmﬁaésﬁﬁsﬁmm@mmﬁm
& | 38 oraunen & quf gfatfrar St fufa F stiue WA Icare) @O daiei %
foraore % foT we-gER & vt fiar e § |

(F) @gRIT H ggEE FHif |

(@) v feufy # sfia 9 wear T8 seuron @ T=Ra Fd SR SR

H H&Y # FEET | . 5
After acquiring the necessary knowledge and skills on starting an
Aloevera Farm, Ashok wanted to be the leading manufacturer of Aloevera
products worldwide. He observed that the products were expensive as the
demand of the products was more than the supply. He was also keen to

promote methods and practices that were economically viable,
environmentally sound and at the same time protecting public health.
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Ashok’s main consideration was about the amount of money paid by the
consumers in consideration of the purchase of Aloevera products. He also
thought that competitors prices and their anticipated reactions must also
be considered for this.

After gathering and analysing information and deing correct marketing
planning, he came to know that the consumers compare the value of a
product to the value of money which they are required to pay. The
consumers will be ready to buy a product when they perceived that the
value of the product is at least equal to the value of money which they
would pay.

Since he was entering into a new market, he felt that he may not be able
to cover all costs. He knew that in the long run the business will not be
able to survive unless all costs are covered in addition to a mininum
profit.

He examined the quality and features of the products of the competitors
‘and the anticipated reactions of the consumers. Considering the same he
decided to add some unique features to the packaging and also decided to
provide free home delivery of the pi-bducts.

The above case relates to a concept which is considered to be an effective
competitive marketing weapon. In conditions of perfect competition most
of the firms compete with each other on this concept in the marketing of
goods and services.

(a)  Identify the concept.

(b) . Explain briefly any four factors discussed in the above case related
to the concept so identified.

22, THSY % ¥ AY g 2 70 ndl wR famwanai = Seoi@ FHifdw | 5

What is meant by co-ordination ? State its any four features.

23. U% e Wl &Sff navashaiet H wwiied F aret ferel IR R
gy o gHIRY | 6
Explain briefly any four factors affecting the fixed capital requu-ements of
an orgamsatmn
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24, FE AY A A wEN @ A AR T ¥ T A HrEr w1 aattnrm
T | @ ey 1 Frsare oreet T A1 | FE FrO 5 FeureT # 998 %
1 g5 geHfead o | e @ T HEET # Seaed Fftt qen i w W
gferen 4 o |

ﬁmm%mﬁm%mm@amﬁﬁﬁm
2 | 30 78 ft argwa e B o R 99 Rt oty &t Sl @, @ et %
FEMR o 3 Tt et ey’ @t dien & forg wfdiida foman Sem =nfze |

IO ST TEUE ) gad sresl faft okl T don srevas wfiem S %
o e | Fifm merSl B SR §Y SETER! % H # R R | A
e, Tl quT 9 A % fOU T a1 AEel H Sag % famor @,
I Yeus 3 36 Ty ot freera foman | 59 Tt ! weqet wrea d @ e
T | 3R SeuTeA # gig, e § GUR 91 0 Ul 9eqd § ol H wgrr
foredt | |

I Fefd & Jeared Weresh g SI9TY T AR Yo o gl T aehte
<l IEH HITT AT F7 THST | 6

Karan Nath took over ‘D’'north Motor Company’ from his ailing father
three months ago. In the past the company was not performing well,
Karan was determined to improve the company’s performance. He
observed that the methods of production as well as selection of employees
in the company were not scientific.

He believed that there was only one best method to maximise efficiency.
He also felt that once the method is developed, the workers of the
company should be trained to learn that ‘best method’.

He asked the Production Manager to develop the best method and carry
out the necessary training. The Production Manager developed this
method using several parameters right from deciding the sequence of
operations, place for men, machines and raw materials till the delivery of
the product to the customers. This method was implemented throughout
the organisation. It helped in increasing the output, improving the
quality and reducing the cost and wastage.

Identify and explain the principles and the technique of scientific
management followed by the Production Manager in the above case.
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‘Moga Industries Ltd.” approached a well established university in the
city of Madurai to recruit qualified personnel for various technical and
professional jobs. They selected Tanya, Ritu, Garima and Chetan for
various vacancies in the organisation.

After the selection and placement, ‘Moga Industries Ltd.” felt the need to
increase the skills and abilities, and the development of positive attitude
of the employees to perform their specific jobs better. The company also
realised that learning new skills would improve the job performance of
the employees. Hence, the company decided to take action for the same.

(a) Name the step of the staffing process regarding which the company -
decided to take action.

(b) -State the benefits of the action to Moga Industries Litd.’
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